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PART - A
Punjabi Language

9Id »ans ¥ Hl & 7 ofieg mfgg o ald faA 3 querel ?

(A) g gw (B) €l JIgeA Hi
(©) FEt Mg (D) EEHIS H
TRyl ? g & fefor yrmg o g 9= 9 2 o
(A) B W IHB nigrsd . (B) Mf@fﬂw
(©) HIw I fezi - @) R 37 i

I »HITA A & a3 gt o e e fan § iz 2
A) IId IHEH (B) dId Mdd& T Hi
(C) Jrd Jigaifde Arfay #t (D) 4rg Jfg Ife #t
Bﬂbrr@fa‘@@a fTa S HAS feg Hafo Fier 2
Ay AR (B) Wug
(C) g (D) SIIT
37 ¥ 3879 fagd T +wdld feg miGer 3 - _
a) g (B) WY
(C) <dIE (D) ¥3
J& (B (29 fea= g Mo 3 395 3196 wfgg <mfonn »
(A) did »de T Hi (B) I ™MHI<H i
(C) J1g IHTA i (D) IdMIAG T2 Hi
g 37 T feg Hu gy 9 -
(A) A (B) &3l
) A3t | (D) AR
J3 8t i&S faggr g w Sg-sm s 3 2
(a) B3 (B) THS
©) fag (D) T
I WY o1 =1 HeH ) Sfio 2 .
(A) By . (B) S wigrE

(C) Aot 3B (D) TR



10. -@@mgﬁm%mmwmﬂ@%%WW»@mw
J? ‘

W fd @ dIm (© M e
?
(A) fHe3IT= (B) FS®IFIR  (O) HIHA (D) HFTg e
12. Jig »ige T< i © fonrg fan o Ifemn 2
(A) H3efodt dg (B) st w5
(C) i€t &t 7 D) W3 fi

13. g IHTH H = Hitd™ & nimy 7t = 5t <t S 7t 2
(a) HaT (B) TITH (C) IHTH ) fuys

14. WIS TR A AT R A5
(A) H3II IR (B) I g =it (®) HGTFHH?ﬁﬁT (D) Wbﬂ%’t?ﬂ

15. %W@mw%ﬁwmwf&aﬁév »
(A) w2 HfgE  (B) TR oy (C) TAIATIE (D) WA eg

16. “HI'HE &Y IS TIAS 318 for Ut feg 2 H&Eﬁﬂ»ﬁaﬁa»{rﬁm%v

(A) BITI (B) YIHIHT ©) 3T (D) 3ty
17. a@%m#@mmﬁ'@a}m’mfﬂ%ﬁa%?

(A) MfH3Ag (B) 3I563T8 (C) FI3JUI (D) JfeeTm
18.  J1g I fitw 7 Ehoiv ity Suaret frgsin 9% -

(A) AYH AITE m2 wm @ =g (B) TN Aige w3 ¥t

(C©) € 3 w3 fRy Jime (D) ﬁz"'tm?{‘r%‘gﬁf&!‘a '

I
19. m%ﬁﬁmgwmmmﬁmmm?

(A) =|UF I3y (B) YUK I
©) ueHagy (D) QUIFZI A



20. 'ﬁagmmfﬂm.ﬁ 'Immﬁga@,@,mmmmwa?

4) IS reex (B) I REIHI IR

© %%WWW (D) IO PITTH
31 @ﬁgna?@mmasam@

SONRILE (B) G ©) feaate (D) foam
23, %lah@ﬂa??feémaam—@ﬁ

(A) & B) G ‘

(©) Bz (D) BuIT3 5 3 w<f

23. 'Hélh@'?u@t@@a'wea?aimé?

(B) HIHA Ja

(D) IJ Ufgrfg=t fieg Jar J=
24. mﬁwéxwgwwe'é@aﬁmé?

(A) SIEF&T B) fysgryQar
(©) M BHTG (D) HAE A o FgaT

25. Mg fasd a6 & 7 for niyre wrvigg 99 -
(&) IR A gTE e R @ mEAA AR
B) WUSinfr e 25 s 1 22 g il & o 92
©) aFasr & mer g2
(D) ¥ € der fat @ e fowr €3 I 7 o3 R B w0 fymus 32

26. "I YT THH T e foy e firg ) HEe w all wigg 3 7

: ' D) ¥ T
(A) HIE (B) Fagw (C) &AM (D) S’Ta;
4



27, R o -3 e e g & faR I 19 Ao e -
() Tt uste, ferme, fema, fafan, fHo-IEHAE, s, v
(B) WIS, HoTed, BF-Juifr, 0, BT, W
(€) BuII3 AT
(D) Bud=z Jet &l

28, fafonm T felmzT TR < Hee § At W I6 2

(A) fenme (B) HUTSGSHA

) fafgnrm (D) Tfafonr-ferme
29, ﬂh’h@gawafzwﬁwm‘ﬂzﬁé?

(A) AfgITdt (B) HfgIre

() Budaz << (D) BUIF3 At &t
30. << fuesgas sfeon foozaee At 92

a) forgreae B) fagee () fagee (D) fargrge
31. 9% HEE ¥ feA3d-fEar ot I=ar ?

A) T3 (B) &I - (©) &3 (D) zmz”t
32, fier Uz Sz foA g © 9g-99& 99 o 9=l ? ‘

(A) fgeuz <3 . B) WawRdzmas

) fFeuzrT3 iy D) fFeuRdRTz

33. I HET © YEal gefsnT faasr mee 93dn ?
(A) Hdl (B) Hai (C).ﬂiﬂaﬂ

M. Bsw A, 162 1jg Sfswiwr for Y T T8 Y -
(A TR e O Jer Ifenr AR
(B) 7 I wy I o7 g Aerer I M3 TH TPt § g
©) 7 Ie e fan v v QAR Al ™ &7 SU oy g oy
0 T Yy B yuzr § <03 99 THE IR

5

(D) QUIF3 T




35,

36.

3.

38.

39,

40.

41.

3o fesfemi 23 frar Feman g & vy feani-fg A faar e d 7
(A) oH . B) 3
() femafdg (D) B HIHA

o @ 30 7 5 et § G o 3§ foswe w5t s st 4 o femand fdg &
g3 ddt 2

(a) W ® USam
(€ W | @) =R 3m
I T ? '

A) 33 (B) &< HIH
(©)° H3&l o) fid

JG f&ftmiT (Sd faaa Hee-Az ©gA3 J 7

(&) I (B) FI {
I feftmi™ &9 fagg mee g Sla adl 92

(A) ERr| (B) Jifags

(C) Tfddt (D) W

J& faftmi feg fqgzr e HuJd 2

(A) STTSHRAYRJ | (B) T SHWI T TG |

(C) €9 3HTT UL IS | (D) TNIHR T |

%Wﬁ%wﬁmimmg@mfé@éeﬁaﬁwa?
() yas fdg ) fael-am :
©) efd ) féd



42.

43.

45.

46.

48.

49,

50.

44,

%Wﬁ%tatalogue'm?mf@gﬁqﬂuﬁ:

(A) UT3d3T (B) drEs

(C) Fe-Us3 (D) TTfez

s fsfimiT f&3 ‘Chronology’ TEe o Urmdl feg Hu gy 3.

(A) dTH&IH (B) "Egsi

) & (D) na3

o ™ &8 File’ HER T Al feg U gqu d: -

(A) JVEAHE (B) JIHMH

(C) nHf3mTat - (D) THA=

I fafinT i85 'Abundance’ e 1 darsl feg Hu gu J:

(A) EHI3I3 B) feeas

(©) s (D) BHHE

Js &t &9 faa3 fema feg B3t Quamr wdt 8=t Aicd 2

(A) HIRHBYI (B) ¥ar -

(©) HIBH (D) 3T g Hi
. Ut 3T @ caATEl gu & fores S9% s faadl Gusm § wirarg gt faprd 2
(A) HBSE (B) Wt

(C) TE " (D) Yot

W =E QuaTH 5 fofimit fE faal g feg SRl At 3 7
(A) gdlwde (B) JUR

() Hdie 3913 fAw &d19 (D) 3d& 3TS
aamwf‘aammsmmwmmwm \
(A) FYIEST (B) TEmayg
© #3TI (D) Har

5 fasfim™ i3 fagzr Hee- A= B9 J 7

(A) AT3 ® a3

(€) AI3 @ a3



PA RT-B

Importance
ledge and Current Affairs of National and International Imp
General Knowle

ontrol of the Nagarkot fort ?
§1. Which year did Mohammad-Bin-Tughlad take ¢

(©) 1314 AD (D) 1315AD
(A) 1325AD (B) 1337 AD m 3 Jierins
287 JaTSa B fefF TS &ITdeIC JEH -
" mé ﬂf:) 1337 € ©) 13147 (D) 1315
(A) 1325 c
, . rela ¢ ' 7
52. Who wrote the book Tuzuk-1 Babq.n @ Degeshiedh ©) ahangi
(A) Abul Fazal (B)gl%aa_lg%l
?
(A) WEBTHE  (B) ¥HI (©) E"H‘fﬂgﬂ (D) HAJIMI
. . (?

53. Which city hosted the 2024 Paralympic Games |
(A) Cape town (B) Paris (C) Beijing (D) New Delhi
fm HfI9 & 2024 Jarsfus ¥ < ARl =it 2 " N
(A) UGS (B) UfgH (C) il (D) &< fesl

54.  In what height above the Chenab River is the Chenab Rail Bridge located ?
(A) 250 meters (B) 359 meters (C) 300 meters (D) 400 meters

&g TfanT T §ua A&t 888 2 fasg s ys Afg3 32
(a) 250ed (B) 359 Hica (C) 300 Hica (D) 400 Hicg

S5.  Where did the 10" International Day of Yoga in 2024 take place as the major event ?
(A) Srinagar (B) Leh (C) Shimla (D) New Delhi
2024 <8 102 Wi3gamed vt foen § W FHaM fad iz famsr 2
(A) H&dg B) &I ©) fm= (D) &< Es!
56. Howis .the magnitude of an earthquake determined ?
(A) Richter Scale (B) Seismograph ~ (C) Mercalli Scale (D) Igneous Scale:
I9% ¥ a3 o2 faqurgz ozt a3 2
(A) WIIREE (g Hmtare (C) HITHAAE (D) feIhATIS
57.  Who .
(A)O ‘;}:he meeting chair for the GST Council (Goods and Services Tax) ?

() € President of India

(B) The Prime Minister of India
ewGovernor of the RBI

(D) The Union Finance Minister

o T e ey e et € e e e d

(C ' (B) SIS TYUS M3
) mtﬂm@ ¥ IRIEg (D) et 33



60.

61.

62,

On June 12, 2024, who wag appointed as the Chief Mipjgye,

of Andhra Pradesh ?
(A)  N. Chandrababu Najdy (B) vs, Jagan Mohan Reddy
(©) K. Clmndms‘hckar Rao (D) Pawan Kalyan
123&20243»#@@73@)}&)-?38‘1@1"5(7?3 13 fam i 7
(A) ’%; 9e99y afg B) T 0N, Tars o I
(€) . deamg g D) Y25 sfgmre
Which of the following was the 18" Mumbai Internationg Film Festival (MIFF) opening
film ?

(A) “The Journey of a Lifetime” (B)  “Tales of the Heart”

(C) *“Billy and Molly, an Otter Love Story” (D) “Echoes of the Past”

5 fedinr 189 T 1séthéfﬁzaﬁﬂmméﬂémmmp)@§u%af€m?ﬂ?
(A) T HIS S B Brdgarghy

(B) "<BH NG T Tigen

©) a7 N W Geg me g

(D) "glad WE T yen

What of the following best describes the International Space Station (ISS) ?
(A) A lunar base established by NASA

(B) A collaborative spacecraft orbiting Earth, used for scientific research and international
cooperation

(C) A Mars rover developed by ESA |
(D) A space tourism station run by private companies

51 I3 9 ot wizgamedt ysTa AT (15S) T AE 3 2t wes g9wrd) 2

(4) &TH 2 HE3 f@8aa 81 ‘

(B) ﬁammmﬁmﬂmmémmﬂﬁm
»"rsaamnmamaa@;awﬂ

(C) ESA O feams g igrs .

(D) YTEIRE Y&t g ity 71 907 R WO fgmy wames

When is the annual World Environment Day observed ?

(A) January | (B) April 22 .‘%?J‘"‘“ (D) September 21
RSS! feHR T3ed foeq oo Hete AT J 7
(A) 17”d (B) 227U © 5ds (D) 21 A3Eg

On July 1,2024, which law/laws was/were FeP1aced by the new eriminal Jaws 2
(A) Con’stituti(’)n of India (B) IPC, CrPC ang Indian Evidence Act
(C)  Consumer Protection Act (D) " Right to Information Act

1 93T, 2024 ﬁ,méar&m@#ﬁﬁmmﬂwmmW?

2 B IPC, Crp
(A) FI3 T Hfegs :D; C%LCWMWW
(C) YUY Haftpt e . U9 T wiftrgrg ware
B e L T | s oy | i e



63.

65.

66.

67.

68.

69.

70.

d by the world Economic Forum

In the Travel & Tourism Development Index 2024, release

(WEF), \:hat is India's position ? o (D) 59"
(A) 39 (B) 20 ) 49" .
emfaawﬁuaéamwmwmﬁaﬁa@égﬁmégmmﬂ?fém
2024 €8, Fa3 A AfES Q2 ' »

(A) 399 (B) 209 ) 499 (D) 59

Which of the following day is observed as National Science Day each year ?

(A) 28" February  (B) 1% March () 2"March (D) 27"‘ %ebruary
mm%@@ﬁﬁé‘@hﬂ%@neﬁm@»ﬂw ?

(A) 28 ST (B) 1HIY (€) 2HTY (D) 273Id

ated at which of the following place ?

The Central Institute of Buddhist Studies is loc :
(A) Leh (B) Kargil (€). I?Jcl.hi (D) Mumbai
Heas ferdifa@e »ig ¥ine A& %Wﬁ?mwéﬂmﬁ?
(A) BT (B) TS © fs () Heg
Which of the following conditions is brought on by a lack of Vitamin A ? ‘
(A) Night-blindness (B) Beri-Beri ' V(C) Scurvy (D) Bone Pain
feaﬁm-ée?a}ﬁwaawrﬁﬂm@Wﬁ@mﬂfasﬁ@ﬁé? L
(A) TITHFUS (B) adt gt (©) AT (D) JSMITTEIT
When is Red Crescent and World Red Cross Day observed ?
(A) May7 (B) May?9 . ()] . May 8 (D) May 10
é?sﬂﬁ?»@feﬂeé’saamfeaﬂaéwﬁwwﬁ?
(A) 7HE (B) 9Hel () 8Nt (D) 10 HeEt
Which planet is referred to as Earth's twin in our solar system ?
(A) Venus y (B) Mars (C) Sun (D) Jupiter
ﬂemmﬁamﬁaﬁgm%aﬁeﬁww% ?
(a) <IoHA (B) - HI1B (C) Had (D) Tled
At which place the revolt of 1857 was started ?
(A) Delhi (B) Meerut ©) Bhopal (D) Gandhinagar
1857 € gare2 foqA AE% 3 Hg JEI AL ?
(a) et (B) HI& (C) 3IUSB (D) JITtl &dId

On June 20, 2024, who amongst the below options became the first to fly into space on the

Boeing Starliner's inaugural crewed mission ? ;
(A) Neil Armstrong and Sunita Williams (B) Buzz Aldrin and Rakesh Sharma

(C) Chris Hadﬁeld and Kalpana Chawla (D) Sunita Williams and Butch Wilmore
J6 58 feamyl 89 a8 20 g&, 2024 §, Bfifa1 ATISTEIRT € BRWTA! T35 5 T
ﬁfﬂﬁéymfi’agswaaaar@;umm{aﬁm ? |
(A) BISMIIHAGIAI 3 HAS fednim () TR MBI M3 ToH HIHT
(C) [qAIZEE3 3 TBYS T& (D) F&IF feghi »3 59 fegng

10 B



71.

72.

73.

74.

75.

On June 26, 2024, who was re-elected as sPeaker of the 18t Lok Sabha ?
(A) Om Birla (B) Rahul Gandhi  (C) K. Syreq

26 9%, 2024 §, 189 B3 732 Altera 2 TG T Wyt fpyy %))? Kiren Rijiju
) Sfegw @) IEIR (©) Amy ©) s i

Who is the captain of India's men's hockey team Competing in the

in Paris ?

(A) P.R. Sreejesh (B)  Hardik Singh

(C) Manpreet Singh . (D) Harmanpreet Singh

gggféa 2024@%@%3%?&?8@386%@3@3913@@31@@%
4

2024 Summer Olympics

(A) Wnmg. Fﬂﬂﬂ (B) Trafed fify

(C) H&URfRw (D) JIIH&3 ity

On June 25, 2024, who was named Leader of the Opposition (LoP) in the 18" Lok Sabha 2
(A) Mallikarjun Kharge (B) Sonia Gandhi

(C) Rahul Gandhi . (D) K.C. Venugopal

2595, 2024 § 189 B A1 &8 fequht fug w1 337 (Lop) foam & S famn w2

(A) HiZIgda ¥4l (B) RH&M 3T

(C) IIS It (D) AH. SIS

What law has the Central Government passed to forbid the use of unfair strat
open examinations ?

(A) Public Examination (Prevention of Cheating) Act, 2024

(B) Public Examination (Prevention of Malpractices) Act, 2024

(C) Public Examination (Prevention of Unfair Means) Act, 2024

(D) Public Examination (Integrity and Fairness) Act, 2024 '

ST AIG & QU ferf3amst © ¥a1s wigfas geaign 9 293 3 udd sarde =8
frgags umdizra

(A) YEEI TS (fiRers wie difdan Wae, 2024

(B) VB amHidHs (lidaHs »ie HaUaferm) »ae, 2024

(C) VEBI MIHHBHE (fiRaHE M naend Hism) wae, 2024

(D) VEfE M IdHE (feweaftel W3 @vTdn) Mere, 2024

egies during

In the T20 World Cup 2024 semi-final between India and England, who won ?

(A) England (B) India |

(C) The match was abandoned (D) Itendedin a tie

93 w3 a3 fagarg A0 fame du 2024 € HieHles e, F fiffsnr 2
(A) féaZs (B) ST3

€) N33 fapr 7 (D) ﬁa?@fé%mraafew

11



Punjab History & Culture

76. Where is the shrine of Baba Farid located ?

(A) Pakpattan (B) Dipalpur (C) Bahwalpur (D) Sheikhupura
T gdle O AT f8 2
(A) UIUTE (B) TUEYJ (C) HIRBYD (D) HYYT

77.  Which Sikh Guru is credited with standardizing the commonly used scripts in Punjab into

Gurmukhi script ?

(A) Guru Nanak Dev  (B) Guru Angad Dev (C) Guru Arjun Dev (D) Guru Amar Das
mﬁawwq@wwmﬁwmmmm@m
fffyag §aea?

A) TgFeI T @) FgHIREEH (© g »IAG T (D) I HIEA Hl

28. Guru Granth Sahib contains the bani of how many bhagats and bhatts 2

79.

80.

81.

(A) 11 bhagats and 15 bhatts (B) 13 bhagtas and 14 bhatts
(C) 15 bhagtas and 11 bhatts (D) 14 bhagtas and 13 bhatts
grg 9fg Ay 89 fofd Fasi 3 det S ot gan J 2 .
(A) 113IBM3 1592 © (B) 13FIBM3143<
(©) 15FaBMI3 113 ’ (D) 14FIBMI 135
Who among the following was the founder of Dal Khalsa ?
"(A) Nawab Kapur Singh (B) Baghel Singh
(C) Jassa Singh Ahluwalia (D) Ala Singh
J5 fafemi™ o9 €8 uraH w a8l 4 Hl ?
(A) &< qyd fHw (B) U fHy
(C) HA AW mragagom (D) WS Y
Lahore was occupied by Maharaja Ranjit Singh after defeating
(A) Kanyhias (B) Nakkais (C) Bhangis (D) Ahluwalias
HITH IHI3 Y & $IT A BT 3 A AT |
(A) TGEMf (B) &gl ©) Fatr . (D) wogTE
l():;la i}}l::ijs the folk hero o/t; Punjab. He rose in revolt against the revenue policy of
o ngir (B) Akbar (C) Abdali (D) Shah Jahan
By T e wfea J | 83 S Hgton St R feedy sare3 1t |

(4) 7T (B) nddd (C) WETE! (D) HIAI

12 B



e, =

82.

84.

86.

When was Punjab annexed by the British ?

(A) 31 March, 1846 (B) 29 March, 1849

(C) 29 March, 1846 (D) 29 March, 1848
ﬁwa?»?aréw%a%'maaﬁfﬁﬁmﬂh

(A) 31 13y, 1846 T (B) 29 H'gwg, 1849 &
(C) 29 H'3Y, 1846 T (D) 29 H'gg, 1848 &

Who among the following Punjabi women was amon
movement in England in the early 20" century ?

(A)  Amrita Shergill
(©) Sophia Duleep Singh

g the leaders of the Suffragette

(B) Amrita Pritam
(D) Rajkumari Amrit Kaur

@ggm%%%m%%mﬁa%mwm
? ;

(A) 23 Aafars (B) Yz sy

(C) RS Ty fify (D) THIHR #ii{z g

The first issue of Gadgy paper was published in which language ?

(A) Punjabi (B) Hindi (C) Bengali (D) Urdu
TET QU T UfTs wis foam 3w g whipn H 2

(A) Ysreh ®) fd<h (©) dars () S

Who among the following is the author of fa

(A) Waris Shah (B)  Amrita Pritam
(C) Sahir Ludhianvi (D) Mohan Singh

mm&ﬁzqﬁumm%@mé?

mous Punjabi novel Pinjar?

(A) SfgA T B) »ifiErizy
(C) W3 Bfpyre (D) NTs ity

Who among the following French soldier and adventurer was hired by Maharaja Ranjit Singh
to train his army ?

(A) Jean-Francois Allard (B) Jean-Baptiste Ventura
(C) Claude August Court (D) Paolo Dj Avitabile

Hawaz?ﬂgfﬁwmmwﬁéﬂéfﬂﬂwéétwaafmmm

frurdind e o & fwera aftar fami i 7
(A) Ta-Safer WEgs (B) mmﬂ?m

13



; ; ?
87.  Which of the following metal was not known to Harappans i Eind e

(A) Copper (B) Gold (C). Iron
I fafimiT i8S fagdl w3 3 gdur el 7rg & 76 7 -
(A) 3 (B) A& ©) BT (D)

88.  Fa-Hein came from which of the following country ?
(A) Persia (B) China (C) Egypt

TS I fSfimi™ &9 faa3 2r I npfenr Al ?

(D) Morocco

(A) YgHh @3) ) fm3 (D) . AdA
89.  Aryabhata is famous for his expertise in . .
(A) Mathematies (B) Economics (C) Medicine .(D) Numismatics

wiaEe e iy Hogs S HEgI J |
(A) dlfe3 (B) MJGHH3d (C) w©<rdl (D) ¥ fefams

90. Mahatma Budh was born in ,
(A) Bodh Gaya (B) Lumbini (C) Kundagrama (D) Vaishali

HI3H §T T HEH feg Ifem |
(A) 8g g (B) IfFat (C) oSIH (D) <HSH

91. Who introduced the silver coin called Rupaya ?

(A) Akbar (B) Sher Shah Suri
(C)  Muhammad Tughlaq (D) None of the above
gufenyt &nHe 9ie) = e fim & Jrft it -
(A) "IJEg (B) HdHI TR

(C) HIHE IIT8q (D) BUIF3 &Y At <t &t

92. The land between Ravi and Chenab is known as
(A)  Chaj doab (B)

(C)  Rachng ¢ ab
0a (D) Bist Jalandhar doab

N5 T e s a3

(A) UHEnryg
(C) dYg&T Enfg B TelE
il (D) faA3 mdug oo

Bari doab

14
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-l(é%(? 1
(77

LOGICAL m:AsoNlN(f1 f‘mMENTAI ABILITY

5

If 15M of February, 1789 is Friday, what will be the day of 15t of February 1790 2
(A), Monday (B) Tuesday (©) Saturday (D) Wednesday

W99 15 3T 1789 Fagerg 3 31 15 29€9 1790 v fig figga 3240 2
(A) AR " (B) Mar®ed (C) Waled (D) YU

Rohit birthday was on 16 J anuary 1991 on Monday. When would he celebrated his birth day .
again on Monday ?

16 7631 1991 g § 3fg3 © woH fes i |§aﬁm5mwwf§ﬁ
¢ Hamean 2 HJf;r,r

i}

(A) 1997 (B) 1999 (C) 2001 (D) 2002 %
Complete the series 2, 12, 30, ...... , 90, 132
BAEYTNI2, 12,30, .54, 90, 132
i) 'g 24
(A) 48 Y (B) 56 (C). 63 (D) 72
3 /_]\Z\. s2
N 30 +y —ﬂo 1q/-’\ 2'/ 53 '13 ”IL
Find the missing number 79"371,,61 53,49, s L PR W ST 31
o g wq‘: 1y o
IHHIT I3 79/%\6J3 -
9 = u)/i 3!
(A) 49 " (B) 31 s3 s? (C) 41 (D) 37 .
' s a ¥ 237 .1.';!!
Complete the series 2, 10, 45, 231, 1393, ..... i O
s pe
SAEYTII2, | 10, 45, 231, 1393, . 23) e
3
(A) 9195 ey «n(B) 7959 3> (C) 9759 2 (D) 9751
A ws 141' .’—-2' 37
S0 3
What is the actual time if the reflected time is 3 : 43 ? e =!
Tan
Had Y3 71 3 : 43 3 31 wiHs A ot S 2 i
(A) - 33217 (B) 7:17 ©) 8:17 (D) 8:43

If the third day of month is Monday, which of the following will be the 20" day ofmonth 9
(A) Friday (B) Saturday ©) Sunday (D) Monday

g HAlS T i fes AR J | feget e oo Wil = 29t fos 329m 2

(A) HIded (B) HAI (C) M3Tg (D) HHTD
15
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100. In front of a mirror. a clock with just dot markings for 3, 6, 9 and 12 positions is kt{pt ups
down. A person interprets the time displaced in the clock’s reflections as 12: 30, but in reality,
it will be

ﬁﬂ?mwélwh@lzﬂfasﬁm*gﬁﬁ%fﬁgﬁrfmwﬂg@wm?@
J 1 53 fomast wt @ i g ferafB M § 12:30 R Qu S AT O, WI WA
feg feg J=ar ) | :
(A) 120°clock  (B) 12:30 (C) 60’ clock (D) 03:45

pside

101. How many minutes are left till six O" clock if it was 45 minutes past four O’ clock fifty
minutes ago ?

ﬁmwﬁhmwéé@ﬁh@@ﬂﬁ?ééﬁzfﬁﬁ%ﬁ%a'ﬁm?
(A) 25 @) 15 P (C) 45 (D) 35

102. Which one of the following figures represents the relationship among Dog, Animal, Pets ?

Jot 3 Sy-fi3i fed fqaa1 93, 764, U83 H6<d! f[<udid HEU § TaAEe1 J ? J
]
@ OO ® © o @O

103. How many Educated people are employed ?
o6 UZ-134 (Educated) 39 dad1 o€ (employed) T& ?

Educsted
Empioyed
&
Rura!
(A) 24 (B) 16 (C) 26 (D) 18

104. A-clock that starts at midnight slow down by five minutes at the end of the first hour, ten
minutes at the end of the second, fifteen minutes at the end of the third, and so forth. After
six hours, what time will this clock indicate ?

fea vt 7 v 13 § wg e Q ufad uR @ 413 e A e, T ¥ wis Re e file,
2 2 w2 &5 Ues e 3t 3 mied 3 w3 39 1d) o I iR 1 2 fenf e

feg w#t faaz mi @ Aaz wat 2 N
(A) 6:00am (B)’5:30am (C) 6:30am (D) 5:15am

16 B




105. Twenty litres of acid

arc included in an 80-liter Combination of acid and water. How much
water makes up the mixture 2 -
T8 03 U @ 80-Bted IS €8 2 Bieg I s Jur ) | it urd frae
(7] y)
3 Eraisi R LA i :'
207 (A) 74%, _(B) 75% ©) 70% ~,5 (D) 85%
n Y " .
;" '
106. In the word ARITHMETIC, what percent of the letterg arcI's ?
ARITHMETIC 78R f&9, 1 (1's) gt @ fdd Y=g gz
J .
(A) 10% (B) 20% ©) 30% (D) 40%
107.

10 years ago, a mother’s age was 3  1/2 of her daughter’s age and 10 years from now, the
mother’s age will be 2 * 1/4 times of her daughter. What will be the sum of the ages of
mother and daughter at present ? ‘

e e 10TEUTE, Ha i A Qe R T g w3 «

12 7 W3 g 3 10 A8 gy,
z*‘-'gg,a’-.,/,v Wﬁ%@ﬂ%ﬂﬁ?z/

1/4 & I<Ii | fer Y vt A Grg T Ag ot Jear -
’ 53: (A) 110~ (B) 120 (©) 1301 i (D) 100
e | 7/'\‘1);'”’ z :
\1
108. How many people in the mentioned figure study only 2 subjects ?
I3 €2 3u1-fd3 K fdfd B fitag 2 fefimi v wimds 392 9% 2
Chemistry
(A) 11 (B) 23 (€) &12 (D) 40
109. A value is less than cight but higher than three. Also, it is higher than six but less than ten.
The number is
fea B wiz 3 yg fSs 330 1 o8 9 FIR I I g en Jue I 1 wix 3
(A) 5 (B) 6 €y 7 (D) 8
B

‘ f—-C+
17 I+ -



{ ta given below.
Directions for Q. No. 110-112 : The following questions are based on the data g

Choose the correct answer for them.

YRS 99 110-112 mm@nmmwa@ﬁaﬁmm g3 IS |

ST =& Wt werE 9@ |
Candidates
ndi aaé es appeared. 10500 _
Passed in all the 5 subjects \
: U
V2
Passed in 3 subjects onl i
assed3m 3su ..]eé’;(:l; 1498 %&

Passed in 2 subjects only 1250 -

frgg 2 fefimi™ iSg uHA . 1 o2

Passed in 1 subject only - & %

fige. 1 fen feg um 1 5"

Failed in Punjabi only h ) \ wi?
fge vrre g 2 " ' s
Failed in Hindi only s o5 3,6/‘?:;
e e e 5 . 73
Failed in French only ‘ N o

, . ay St
fegarifess | 4 -3 Wy BH
Failed in English only J!::‘t;z’_ S -3
frigg féaren ffe & 4 30 g
. . A — =2 SD
Failed in German only _ ' )05‘9:— ’L’)’
iz srove 9 35 221 e - B
B B vy o0 \{Y
wsv -
110. How many candidates passed in at least four subjects ? ‘i/s;
7 WA 9Td fefimf™ € 8 Efleegym e, 7 i
(A) 6555 (B) 5685 (C) 1705 (D) 870

111. How many candidates failed because of having failed in four or less subjects ?

S Tfe fefimi &8 88 J< 195 fdd Srieeg @ 98 ¢

(A) 4815 (B)

4453 (C) 3618 (D) 2368
112. How many candidates are failed in all subjects ?

F1d fefipei 25 £ @vifeerg g 92 7

(A) 4815 (B) 13317 (C) 2867 (D) 362

18 B



113. In the following question, four words have been given, out of which three are alike in some
manner and the fourth one is different. Choose out the odd one.

(A) Wheat (B) Paddy (C) Jowar (D) Mustard
ﬂ@fﬁémﬁamw&@m@mfﬂ?ﬁ@ﬁaﬁﬁwm@%ﬁamaﬁ
MITE XTI | »iE § T2 |

(A) IH (B) Y (C) #<d (D) Hq

114. If diamond is called gold, gold is called steel, steel is called ruby and ruby is called emerald,
which is the cheapest jewel ?

(A) Diamond (B) Steel (C) Gold (D) Ruby
gmmﬁm,ﬂagm,magﬁmgmﬁwmmymgmm
%

(a) dir (B) AIB (©) A (D) g

115. Piyush is 10" from left and Gaurav is 15" from right. When Piyush and Gaurav exchange
their positions, then Piyush becomes 15™ from the left. What is the new position of Gaurav

from right ?

HgH e 3 102 3 dige AR 3 158 FETs 3 | 7S Uiy i3 dige »ue Afgst gese
I5 SgR Y 15l g He d | FA 3l A o At S I 2 X

(A) 18 (B) 20 (C) 19 D) 11 w¥

116. In arow of children Kalpana is 9" from the left and Saneha is 13" from the right. When they
exchange their positions, then Kalpana becomes 18" from the left. What is the new position

! ' of Saneha from the right end of the row ?

ST & 333 fE9 TBUST ¥ 3 92 »F AdTT AH 3 139 FEs 3 I | 7 Baminud
Y e FEs O wes-geE a3 96 3 JBUST T HEG Y9 3 18T e HiET d | 39 ©
» MR Irdodad AfEst st d 2
(A) 22 (B) 25 (©)¢ 27 (D) 29

117. The following question consists of two words each that have a certain relationship to each
5 ° other.
Select the lettered pair that has the same relationship as the original pair of words.

Books : Printing Press : : Cloth : ?
a (A) Tailor (B) Textile - (C) Fibre (D) Mill

351 53 s g @ e Io fiigy' © e T & RSy Adu J |

foHa fouz i peo-ad o O o9 A © FEe © WS 13 © AHTS AT OR |
fa?af:awe?fm::a“uan?

(A) Ta B) daAcds (O T ) s

B l() ““HH”P'.';]“f:\lllnlﬂ



W

Uardt
118 mﬁm&ﬂﬁﬁ?ﬁ% ©) T (D) WS
(A) = (B)
- 3y S J:
Fsfief 2 B T AHTGTIEA HET
19 ?f) ) WSl ©) I D) &=
. %Wﬁ%‘g@{"@f@éﬂhﬂ?é: A i
¥ a) fegs (B) Hel © 8 (D) Ho
121, U R ate < A o &S A3 3 ? _
(A) FAYITTS BI< (B) SRIWI A
) f&ATga &R (D) UTTIETHY &2
122. UISie Toft flahdT™ IAHT J6& 7 § §
A) Ud (B) ® (C) H3 (D) WM&
123. @'WW@@@H?@@WW%%?S@?@H@Eﬁ&ﬁ%%?
(A) Yd&Taed ffamr (B) TIN YI&IES T
(€) HHa13 fafanr (D) FIIHA fdfgn

124. B BUST HIEI TMIEJ ;-
(A) T IS (B) WEIGET (C) TISHTIT (D) WHETEl AT

125. T E HIL. WS YJT I |
(A) dA3ied (B) SAHTEMT (C) JIXTSH (D) dd o

126. ‘Germination’ HE<T T YAl mge= J ;

(A) <d1d (B) TFF ) fended (D) »dds
127. T3 UT 8 Aa=d’ B I6 (BfmT i fagz mee eIz AeT 9 2
(A) gy (B) Wi (C) TUHI (D) WIAST
128. J& BT f&T fqgzr mae- Az ©am3 9 7
(A) UJd B) ufad (©) UJd o) fugg
129. I ffis™ & fFo Hee- A3 sla 5di J 2
| (a) fega ®) foas (C) A D) I3
) 130. fonimrgr e feg WA d:
(A) famp B) fent ) f& (D) fonm

20
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ENGLISH

Choose the most appropriate Article out of the given four options in the following question,

131. ___ student should learn from the best expert she or he can find,

(A) A (B) An (C) The (D) no article

Choose the one which can be substituted for the given sentence,
132. A speech delivered without any preparation.
(A) Debate (B)  Declamation

(C) Extempore (D)  Symposium

Change the given sentence into indirect narration :
133. Rashi said, “my mother is my best friend.”
(A) Rashi said that my mother is my best friend,
(B)  Rashi said that my mother was my best friend
(C) Rashi said that her mother was her best friend,

(D) Rashi thinks her mother to be best.

134. Choose the correct spellings from the following :
(A) Floroscent (B)  Fluorescent

(C) Fluroscent (D) Flourescent

Choose the right option which correctly explains the given meaning of idiom or phrase.
135. Beauty is only skin deep.

(A)  Beauty is only on the skin.

(B) A person’s character is more important than his appearancc,

(C) Only a person with a beautiful skin is beautiful

(D) Beauty is what matters,






Change the following sentence into passive voic¢ ¢
136. Who broke this window ?

(A) By whom was this window broken ?

(B) By whom this window was broken ?

(C) By whom was this window been broken.

(D) Whom was this window broken by ?

137. Choose the correct sentence.
(A) Time and tide wait for none.
(B) The novelist and poet are dead.
(C) The committee have issued their report.

(D) He asked me whether either of the applicants was suitable.

Identify the adverb.

138. Ihave never been to Dubai. I would like to go there. .
(A) would | (B) never
(C) have | (D) like

139. Choose the sentence in which adjective of number has been used :
(A) He has lost all his wealth. (B) You have no sense.

(C) 1have enough sugar. (D) There are no pictures in this book.

140. An antonym of gallant is g
(A) fine - (B) bold (C) coward (D) frolic

141. What is antonym of adjourn?
(A) Decide (B) Hasten (C) Postpone (D) Continue

Choose the most appropriate preposition out of the given four options in the following
question.

142. Mario got the car and drove away.

(A) in (B) into (C) on (D) within
22 B
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143, 1y Microsoft Word, which keyboard shortcut Combination is used to open the “Thesaurus”
dialog box

I AT Y 2

(A) Ctrl+T (B) Shift + F7 (C) Ctrl +F5 (D) Ctrl+ Alt+S
144. Which is not an operating system ?

(A) Microsoft Windows (B) Unix (C) Macos (D) Explorer

foga SuRfeq firmen st 3§ 2

(A) WelREe R3R (B) wfsam (C) = R (D) WIAURT

145. Every Web page has a unique address called :

(A) ULL (B) uUDC (C) URL (D) UML
aaéaﬂne*ﬁsrﬁa‘usu?j@éﬁméfavﬁvéz
(A) s (B) G ©) Wiy (D) T Z
146. In the e-mail address Xab@yahoo.com, “com” stands for ?
(A) commercial (B) common © community (D) component
Xab@yahoo.com 8T U3 &7 "com" T MIEJ
(A) I (B) & (©) Ingec (D) SEVBe

147. In Microsoft Word, what is the exact maximum number of columns that can be inserted in a
single table ?

; B) 65
(((/3\)) ngO ng None of the above
Mﬁwamﬁ%,@%ﬁamﬁaﬁ%w@ma@mﬁémﬁ@?eﬁm
&St 2 _ -
(A) 50 (B) 65 N .
(C) 100 (D) BUIT3 & Xt o5t

148. Which of the following is the shortcut key for spelling checking in PowerPoint 9

m@mmw%%ﬂwﬁémﬁﬂwwév

(A) F5 (B) F7 (C) Fo (D) F3
IS 1 hardware component of computer : ,
e (’5{])15 1SCII]’?JH] e (B)p Mother Board  (C) HDD " (D) Proxy Drive

fogs fed gz dfugeg & ggagma side odi J 2 _
(A) i B) wegwds O MERAFJ  p) Yy ggwe

. . . - uter ?
150.- Which one is not an mpmdcv“.:c()fc?mp (C) Plotter (D) Joy Stick
(A) Scanner (B) Light Pw.fl"
fagz dfufeg v feaye faedA &di J )
. B mfeeds (O W (D) WAl
il
2

K



